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OPTIMAL TOLL CHARGE
CONSIDERING A COMMUTATION ALLOWANCE BY COMPANY

Mitsunori YOSHIMURA and Makoto OKUMURA

In recent years, the social experiment to change amount of a toll charge is implemented for the purpose of relaxing
the road congestion. However, a commutation allowance is supplied in a lot of companies in Japan. Therefore, change
of the toll charge doesn'’t always connect with the behavior change by the commuter directly. In this paper, we propose
the theoretical model which can evaluate thdfhttaassignment, the social welfare to have considered a commutation
allowance by company on the 10D city which consists of toll road and free road. We clarify about the characteristic of
the realization solution and the optimal toll charge withithout commutation allowance.



